Pei Chun Public School
Semestral Assessment 1 - 2007

Science
Primary 4
Name : ( ) Date : 8 May 2007
Class : Pr. 4( ) Time: 1 hr 30 min

Science Teacher :

Section A (25 x 2 marks)
For questions ] to 25, choose the most suitable answer and shade its number (1, 2, 3 or 4) on the
Optical Answer Sheet (OAS) provided.
i
1. Which ofthe following can move by itself?

(1) 2

® @

Based on what you can observe from the diagrams, which of the statements 1s
definitely true?

(1) Both breathe through the gijls.

(2) Both of them have a tail.

(3) Both live iu the water.

(4) Both lay eggs. ( )
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3. The following diagram shows a maze that Bala has created. A mouse is placed af the
start position. Cheese is placed at the end of the maze.

End

Bala wants to find out how IoE_;_;_lhe mouse takes (o reach the cheese.
Which of the following Tnstruments should he use?

) @)

itre—

[©) (4)

(

4. The following animals belong to the same group because all of them

(1) canfly

(2) eat fish

(3) cansing

(4) have wings (
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5. The flowchart below shows the characleristics of four different

Animal

A

1ts youny alive?

Gives birth to No

Yes

( Liveyn the sea

No

A

Yes

‘— Breathegthrough its Jungs  (—

No

Yes

>

Y

} i

Which of the animals, A, B, C or D, matches the animal shown in the diag:rarh.

below?

(1y A
3y ¢

6. '""Th"édiagrams below show four similar plants, P, Q, R and S.

(> B
(4 D

black plastic ‘X}

T

thick
cardboard box

Plant P
In the sun

Temperature 30°C  Temperature 33°C  Tem

Plant Q
In the sun

Plant R

In the sun
perature 33°C  Temperature 23°C

Which of the plants above will be able to pﬁotosynthesize?

1y p
(3) R
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(2) Q
(4) S

Plant S
Corner of a room




7. The diagrams below show how different objects behave in liquids P and Q.

Liquid P —

.

Liquid Q ——-— ////%

Which of the following diagrams show clearly what happens when Hquids P and Q,
and all the objects are placed in-one container?

ey

3)
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Liquid P —r—

Liquid P —

Liqud Q ———

N3
_.LOO"
- pEey

Ligwid Q —— "~

(2)

4

o
Ligquid Q ——
333
Liquid P —1—
o d
B3
Liquid P ——
Liqud Q ——
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8.

Study the classification chart below carefully.

Solids
L
| \
Breaks into Does not break into
pieces when hit pieces when hit
l . I
. [ 1 L - |
Waterproof Not Waterproof Not
waterproof waterproof
E F G H
[n which group will you place mirror and ratncoat?
mirror raincoat '
H E G
(2) F G
(3) G E -
(4) G 1 H -
Study the diagrams below,

120f

carbon
dioxide

Qookmg()ﬂ A

1 Litre

Which of the following statements about the Jiqguids and gas in the containers and

balloon are true?

A:  They cannot be compressed.
B:  They have the same volume.
C:  They do not have a definite shape.

(1) Aand Bonly

(2) Aand Conly

(3) Band Conly

(4) A,BandC ( )
203
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10.  Equal volumes of flour, water, oxygen and sand are placed into four identical syringes.
In which syringe can the plunger be pushed down the most?

ey (2)

sealed end

sealed end

(3) (4)

sealed end —
oxygen C sealed end

11.  The diagram below shows a beaker with a capacity of 1000 cm®, Nathan filled the
beaker with 100 cm’ of water. Then, he fitted a pump at the top of the beaker. Each
time he pushed in the pump fully, 200 cm’ of air entered the beaker. He pressed the
pump 2 times.

pump
beaker
water

What would the volume of air in the beaker be?
1) 1300 cm®
(2) 1100 em?
3) 1000 cm?
(4) 900 cm? . (

264
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12.  The diagram betow shows a mecasuring cylinder which contains 30 cmn?® of water. When
a metal ball is added, the water level rises. When both the metal ball and a stone are
added, the water level rises again.

N e \ e _ ~N 7

Q0 c’®

=130 em*

Metal ball added Metal ball and
stone added
‘

Which one of the following sets of readings shows the volumes of the metal ball and

the stone?
Volume of the metal ball (an®) | Volume of the stone ( cm®)
0 . 50 90
2) © 50 ¢ 40
3) 20 40 :
4y t 20 10 ( )

13.  Cindy wants to set up an experiment to test how the exposed surface area of a liquid
can affect the rate of evaporation. :

Exposed surface area of liquid Amount of water
ERITYens? ) Lom®) o )
Container K 20 30
Container L . 20 40
Container M 20 40
Container N | 30 40

Which twu of the above containers should she choose to carry out her expersment?

(1) KandL

(2) KandM

(3) LandM .

(4) MandN ( )

265
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14, Jiaming has 3 different ropes, L, M and N. The diagram shows the maximum mass
that each rope can support without breaking.

Z
L M N
IOMONC

Which of the arrangements below would not cause any of the ropes to break?

O Wi @)
‘ L

1 1kg

M
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15.  The boiling and freezing points of four hquids, E, F, G and H, are given in the table

below.
Liguid | Boiling Point (°C) | Freezing Point (°C)
E 120 -90
F 310 90
G 5 -10
H 80 20

Which of them would be a suitable liquid for use in a thermometer to measure both the
boiling and frecezing points ot water?

(1) E 2y F
3) G 4 H ( )

]

16.  Fouridentical towels, P, Q, R and S, are soaked with the same amount of water and
hung to dry under different weather conditions.

_Windy )
High surrounding temperature
Low humidity

XX <
x|\ S0
NN/

ANIANE 31~

Which of the towels will dry first?

- () P : 2) Q
3) R @ s | ).

17.  Shila used the following setup to ‘create rain’. She filled half the jar with ice water
and covered it with a piece of plastic sheet. Some ice cubes were placed on the plastic
sheet. After a few minutes, she did not see the ‘rain’ that she had expected to see.
One of the items she used was incorrect.

ice cubes
rubber band

plastic sheet

1ce water

Which of the following items was incorrect?

(1)  Ice cubes

(2) Ice water

(3) Plastic sheet

(4) Rubber band ( )
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}8. 'The statements A to F describe the events that Jead 10 the formation of rain. However,
they are not in the correct order.

Water evaporates from rivers and lakes
Condensation happens

Water vapour nises and then cools

Droplets of water form clouds

Heat from the sun warms the earth

Water droplets becomme bigger and fall as rain

E > = — — F

Which of the following completes the order?

TMmMOOW>

1l A >C > D > B
“2) A > C > B > D
3 € > A >B > D
4 B >D > A > C (
19.  Which of the following processes of the water cycle are comrectly described?
Change
Process From To
A | Condensation- | Water vapour | Water
B | Evaporation Water Jee
C | Freezing Ice Water vapour
D | Melting Ice Water ]
(1) AandC
(2) AandD
(3) BandC
(4) BandD {
20.  Which of the following statements about air are true?
A:  Inhaled air contains more oxygen than exhaled air.
B:  Airis amixture of oxygen and carbon dioxide only.
C:  Every 100 m] of air contains } mi of carbon dioxide.
D:  Green plants need oxygen and carbon dioxide to live.
(1) AandB
(2 AandD
(3) BandC
() CandD (
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2}. A wet towel is hung out to dry in the sun as shown.

[
Which of the following spots (A, B, C or D) will take the shortest time to dry?

€y
(2)
(3)
)

22, Judy wanted to conduct an experiment to show that more air will keep a candle

A

D.

gow >

burning for a longer time. She lit a candle and put it into the container as shown. She
covered the container. She measured the time taken for the candle to stop burning and
repeated the experiment three times.

Which of the following variables should she keep the same?

A
B:
C:

1
(2)
(3)
4

Size and type of the candles used
Size of the sealed containers used
Time taken for the candles to stop burning

A only

B only

A and B only
A,Band C
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23.  Joel set up the following experiment.

basin

Which diagram shows what happened to the set-up at the end of the experimernt?

(1) (2)

(3) 4

24.  Stefly set up an experiment as shown below. Air entered from one side of the set-up
and travelled through the four beakers. ‘

Air enters Air exits

limewater live toads limewater

In which beaker(s) will the limewatér turn chalky after some time?

(1) Beaker N only
(2) Beaker P only
(3) Beakers M and N only
(4) Beakers N and P only ¢ )

300
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25. Henry walked briskly for 10 minutes from his home to a field. Then, he ran very fast
for another 10 minutes, before walking home slowly. Which of the following graphs
best shows his gscorate during his journey? )

Az o Neart By, e AN,

(1)
Number of
heartbgats
per minute >
0 ]]'O 2{0 3IO Time (mln)
(2)
'
Number of -
heartbeats
per minute t— ———
3)
Number of
heartbeats
per minute p——o
4)

Number of )
heartbeats -
per minute

( )
For Questions 26 to 30, please refer to Booklet K.
End of Section A
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Pei Chun Public School
Semestral Assessment 1 — 2007

Science
Primary 4
Name : ( ) Date : 8 May 2007
Class: Pr. 4 ) . Parent's Signature : L
Science Teacher :
Time : 1br 30 min
Marks for Section A
. 60
Marks for Section B
30
Marks for Booklet K ‘ /
(exclude Section A Qns. 26 to 30) - 10 :
Total Marks .
100
Section B (30 marks) )
For questions 31 to 42, write your answers in the spaces provided.
31. Look at the following diagram.
adult cockroach cockroach nymph

a) Based on the diagram, what is one difference between the adult cockroach
and the cockroach nymph? (Do not compare their sizes.) (1m)

b) Name the process that the cockroach nymph goes through before it becomes (1 m)
an adult.

302
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32, Study the classification chart below.

L

Leaves with jagged edge

[

]

Plants
i
L
Leaves with entire edge

|

L | I
Oval-shaped Palm-shaped Oval-shaped

A B C

Palm-shaped
D

a) In which group would you place the leaves of the three different plants

below? Write A, B, C or D in the boxes below. (tV2m)
b) Based on the classification chart, what are the characteristics of p]ant']?.? (1m)
33.  The diagram below shows the three body parts of an insect.
a) Draw the legs of the insect on the diagram above. (1m)
b) Look at.the following diagrams carefuily. Circle the insects, (Im)
303
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34. Study Dean’s family tree below.

O

\ O O

Benny Kenny Fanny

065G 55 =

Dean  Daisy Diarna

Male
O Female

Put a tick (v') in the correct boxes against the following statements.

: (2Zm})
. Not ibl
Statement True | False l S0t possibie
| totent
Diana has two sisters.
Daisy has three cousins,
Kenny is older than Dean, Diana and
Daisy.
Dean’s grandparents have two
| daughters. : |
35. The diagram below shows some examples of the three groups of matter.
Matter
air water ice
stearn syrup rock
oxygen honey spoon
Fill in each box with the correct property that describes the matching
state(s) of matter. {(2m)
304
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36.  Study the following flow chart which describes different animals.

Gives birth to No ) Has wings? No " ’
its young alive? . suppy
Yes
N Yes
Mammal? o swordtail
Yes Y N _
O .
Can fly? F" penguin
lion
Yes
A
parrot
a) Which of the above animals is wrongly classified? Why?  ~ {2m)
b) Based on the flowchart above, write down the characteristics of the parrot. (1% m) -
¢} How does a swordtail reproduce? (Im)

37. Meili received a balloon from her friend. The diagram below shows what
happened to the balloon when she squeezed it. )

305
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a) What does this show about air? (1Tm)

b) Tom noticed that the water level in (he bathfdb rose when he got into the
water. Why did the water level rise? (1m)

38.  Mrs Fatimah poured some cooking oil into a bottle of water with sorne
wrigglers n it,

a) What would Mrs Fatimah observe after 3 days? (1m)

b) Explain your answer in (a). (1m})

306
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39.  Cynthia puts ticks (v') against the characteristics that her hamsters had and
crosses (%) for those they did not have.

Characteristic - , Cynthia’s har'nsters - |
Allyham | Billyham { Collyham | Dillyham | Easyham | Fillyham
Short tail v x v x v v
Furry tail v x v v v x
Short fur X x X v v x
Pointed ears v x X v v x
Curved claws v v v x x v
Single colour [ % v x x v v

a) Cynthia placed her hamsters into two groups according to one of the
characteristics. - -

Group P Group Q

Allyham | Billyham
Dillyham Collyham
Easyham Fillyham

: (1m)
Which charactenstic did she use to group the hamsters? .

b) What was the difference between Billyham and Fi]lyham? (1m)

40. The diagram below shows the circulatory system in our body,

A

Other parts of
the body

307

Sc/P47SAT 72007/ Page b of 8



a) Name the parts marked A and B. (1m)

A: _ B:

b) What is the difference between the blood entering the lungs and the blood (1m)
leaving the lungs?

4]. fhe diagram below shows a factory discharging harmful ¢hemical waste into
the river, The arrow shows the direction of the river flow.

a) Which part of the river, A, B or C, is the most poltuted? (1m)
b) Which part of the river, A, B or C, will you find the most fish ugviving? (1m)
¢) Explain your answer in (b). (1m)

308
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42. The bar graph below shows the water consumption of the Lim family for the
months January to May 2007

Water Consumgption of the Lim Family 1
®
E
=]
8. B L
g g mm R _
. ©
e | —
8o
% r
23 S R OV e T e ]
£
5 , L
Jan Feb Mear Apr May [}
\ )
a) In which month did the Lim family use the most water? (1m)
b) How much water did the Lim family use that month? {1m)

¢) State whether the following statements about the water consumption of the (1m)
Lim family are true or false. '

True/ False

The Lim family consumed more and more
water from January to May 2007.

They consumed the least amount of water
| in February.

d) Tick against the boxes that show possible ways in which the Lim family can (1 m)

reduce their consumption of water.

Activities Tick (V)
{ | Use a hose when washing the car.

i1 | Water the plants with a watering can.

117| Do not leave taps running unnecessarily.

For Questions 43 to 46, please refer to Booklet K.

End of Paper ‘

Setby Ms Chua Hui Zhi

Vetted by: P4 Science Committec teachers
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guppies do
guppies do :
¥parrot has wings, can fly and

does not giv to its young alive.



37)a)Bir can b

-mpressed

rivel,
locatio

least af] harm S %0 1's Ctory

42)a)May
b)23m3
c)False
True
dyii, iii
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